[image: image1.jpg]2.  UseNewton’s method to approximate the value of V20.

(6 pts)

-—e —— —— - N —

2 e e
H : Indicate whether the function f(x) = %—-——Qé(—z—-——?- has vertical and horizontal
X" —JX+.

asymptotes. If it does, find them.




-Please include all steps and rough work needed to arrive at the correct answer and for understanding of the problem 

-Please answer the questions with the corresponding numbers 

-You may have to zoom in to view the questions because the scan quality is not very good

